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CTET-1 CDP Memory Based Questions CTET-1 English Memory Based Question
Q1. Which one of the following statements is | Q1. The wuse of both assimilation and
true regarding Vygotsky’s viewpoint of accommodation in learning a language was
cognitive development? suggested by
Ans: Peers, culture, and language play a Ans: Jean Piaget
crucial role in cognitive development
. ) ) Q2. Multilingualism in a classroom needs to be
Q2. Which of .the follow_lng is a correctly understood as by the teachers.
matched pair of type of intelligence and end- Ans:
T ns: an asset and resource
state performance possibilities as per
H 's th f Itipl
in(;‘e/\llﬁ;nc(e;:;dner s theory of multiple Q3. Zone of proximal development' is
Ans: Spatial intelligence- Architect An_s: the area between a child's current level
of independent performance and the level of
Q3. According to G. Wallas, the first stage of performance that the child could achieve
creative thinking is with the help of adults and more skilled
Ans: Preparation peers.
Q4. Which of the following behaviours is not a | Q4. Which characteristic of a teacher is least
manifestation of emotional disturbance? important in inclusive education?
Ans: Autism Ans: Socioeconomic status of teacher
Q5. In this stage, tge indivi(.lufal. focuses Ori Q5.  Which is not a characteristic of formative
receiving rewards or satisfying persona evaluation?
needs- Ans: Its result can be used for grading or
Ans: Stage 2: Instrumental purpose 1
: : placement purposes
orientation
Q6. In his Theory of Cognitive Development, Qeé. Why'has it become difficult for. children to
Jean Piaget describes cognitive structures in acquire second languages effectively?
terms of- Ans: Children either do not encounter the
Ans: Schema language at all in their home environment or
do so to a limited extent & Children also get
Q7. The development from head to foot is called only a few hours of exposure to the second
Ans: Cephalocaudal language
Q8. Anu wants to join the Indian Air Force, but
her frlends make fun of her. The reason for CTET-1 Hindi Memorv Based Question
making fun is:
Ans: Gender discriminatory behavior QL. =¥ &7 it T v 4
Q9. Education Policy 2020 lays particular
emphasis on the development of- Q2. Y UTSI=FAT FYL@T T Foh a9 § ywariad
Ans: The creative potential of each ERIRIE N
individual Ans: 2005
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Q3.

Q4.
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CTET-1 Mathematics Memory Based

Question

Find the wrong term in the given series-
8,31,65,112,170,253
Ans: 170

A rectangular grassy plot is 112m long and
78m broad, it has a travel path 2.5m wide all
around it on the sides, find the area of the
path -

Ans: 925 m?

How many lines of symmetry are there in a
rectangle -
Ans: 3

At  What level of Van  Heile's
spatial/geometrical understanding, a child
is likely to accept that a square is also a
rectangle.

Ans: Level 2 (Relationship)

What should be subtracted from the sum of
10001, 20022, and 30333 to get 17069?
Ans: 43287

CTET-1 EVS Memory Based Question

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Q10.

Rajaji national park is located in
Ans: Uttarakhand

Red data book keeps a record of
Ans: Endangered plants and animals

The name of a particular species of birds
whose male bird makes many beautiful
nests and the female bird selects one nest to
lay her eggs is

Ans: Weaver Bird

Bronze is an alloy whose main constituents
are
Ans: Copper and tin

In which year a thousand people died in the
earthquake that struck in Bhuj (Gujrat)?
Ans: 2001

The state/Union Territory of our country
which has a coast on the Arabian Sea is
Ans: Karnataka

“Rajmah-Chawal (rice) and Bhature-
Chholey” is the most liked food of the
common people of

Ans: Punjab

In which one of the following cities, the trees
of only one kind (date palms) are seen?
Ans: Abu Dhabi

‘Cheraw’ is the folk dance of
Ans: Mizoram

Which of the following features of a video
conferencing app can be used to Best
demonstrate how communication can be
done without speaking?

Ans: GIF in the chat
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